ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION 2018-19

MARKS 100 [CEASSEVII

—

1.

TIME : 1 %2 Hours

Fill in the blanks using the correct options

If YOU Study Well , YOU «ooovmevreeeerimserneeassinnneesens

a) will succeed b) succeed
) will have succeed d) would succeed

Fill in the blank with the right word.

It fell the table and broke.

a) of b) up c) between d) off
Correctly spelt word is ........oooienmiiiianaen

a) accommeodation b) accomodation

c) acommodation d) accommodation

My parents are the -—--—-—----- in the family.

(a) young (b) younger (c) more young (d) youngest

Select the correctly punctuated sentence.

a) She always enjoys sweets, chocolate, and apples.
b) She always enjoys sweets; chocolate, and apples.
c) She always enjoys sweets, chocolate and apples.
d) She always enjoys, sweets, chocolate and apples.

Choose the correct sentence.

a) | would rather stay at home instead go out tonight.

b) | would rather stay at home beside go out tonight.

c) | would rather stay at home other than go out tonight.
d) | would rather stay at home than go out tonight

. erecasonsaannnssssasasnes since 8 o' clock.
a) rains b) is raining
c) has raining d) has been raining

Find an angle which is 10 more than 4 times its supplement.
a) 74° b) 146° c) 100° d) 180°
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a) 4 b) 6 c)0 ) ‘
Find the quotient, if the product of all integers from (-2) to (+5) s divided by (-10)
a) -10 b) 3 c)0 d) 1

The perimeter of a triangle is 8 + 13a + 7 and two of Ilg sides are
2 +3a+2and3 —4a-1. Find the third side of the triangle.

a)2a® +14a+7

b) 2a® +12a+9

C) -2a® —14a -7

d) -2a® +12a+9
x-0.11

If =%~ =1.6, then find x .
a) 25.71 b) 13.56 C) 2.67 d) 2.45

The reciprocal of (15/2 + 34 ) X 9/8 is:

a) 21/2 b) 2/21 c) 28/3 d) None of these

a) entrapped steam b) condensed water droplets at the surface

¢) watervapours stuck to surface d) none of these
A student added dil. sulphuric acjd to lime water The reaction mixture
a) will become cold b) will become hot
c) will either become hot or cold d) will remain the same
The simplest substance of PrOEINS oo
a) gluFose b) fatty acid
C) amino acig d) glycero|
2
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a) radiation
(@ (b) Conduction,

Calamine solutio ine. (€) convegyj '
12) Claicionh Carb;‘n(‘oa(:tams, Ection (d) evaporation
(c) magnesium carbonate () zine carbonate =
The enzymes presgnt in the saliyg — (d) sodiym carbonate
E:)) E?c:t:i;osf:\tttz ::(ij o eero ' (b) starch int
NO acids INto simple g
The effect of sting of an ant can be | (d) compley sugarz int: 2::;& sugars
! Neutralizeq q .
@) Calcium carbonate b) SV rubbing with
¢) Sodium Hydrogen Carbonate d) C:?;:Ju:\%zbo-nate
Glucose in the cell break down With the help of oride
a) Oxygen _ b) Water

¢) Carbon dioxide * d) Hyg
Which of the following is not correct? ) Hydroges

(a)Air exerts pressure
(b) Cold air is lighter than warm air

(c)High speed winds are accompanied by reduced ajr pressure
(d)Air expands on heating

Hampi was the capital of ....................._ Empire.

a) Cholas b) Cheras ¢) Vijayanagara d) Pandyas

Sea breeze and the land breeze are the examplesof ........................

a) local wind b) permanent wind ¢) seasonal wind d) monsoon wind
Who was the first Mughal emperor?

(a) Shah Jahan (b) Akbar (c) Babur (d) Humayun
Which of these is not an igneous rock? .

(a ) Basalt (b) Marble (c) Granite (d) Diorite

The world environment day is celebrated on; .

(a) 6 June (b) 5 July (c) 5 June (d) 8 May

An earthquake is measured with a machine calleq ) Electiomeler
a) Barometer b) Seismograph ~ ¢) Alimeter

Th.? SOveIHaL i appoinic<.o¥ " p) The State Government

a) The People d) Chief Minister

¢) The Central Government
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d) Persia
33. IBN Battuta was a traveller from

c) Afghan
Mangol b) Morocco ) od
' = Mang uscripts are stor d) Locker -
’ 34. A place where documents and 'man ) Library
a) Museum b) Archive
e e ) Noverber 12016 ) July 5 201,
ly 120 _
a) June 1 2016 b) Ju :
%6 World Red Gross day isb‘;r;:ay 8 | c) October 17 | d) December 21
a) November 9 R
i ics? ,
37. First medal winner for India in 2016 Rio Olyrg;):bhinav Bhindra  d) Deepa Karmakar
i i indhu
a) Sakshi Malik b) P.V. Sind
38. International women's day is celebrated on \ 2 March * (d) 5 June
(a) 8 March (b) 11 July (c gt Gh P
new presi akistan 7
39. On 4th September 2018, who has been elected as the p | :
if  (c) Imran Khan (d) Dr. Arif Alvi
(@)Parvez Musharraf (b) Nawaz Shari

40. Name the rescue
August, 20187 )
(@) Operation Madad : (b) Operation Vijay _
(c) Operation Karuna (d) Operation Blue Bird

and relief operation launched by Indian Airforce in flood-hit Keral

Programme was first imple

mented in the state of
b) Tamil Nady

¢) Maharashtra

a) Kerala ‘

d) Karnataka

Pean country?
a) France b) Spain c) ltaly d) Portugal
43. Whose autobiography js known as “Joothan”
a) Motf'lal Nehry b) Mahathma Gandhij
¢) Rabindranath Tagore d) Om PrakashValmiki
44.  Which one of the fj |
i S compatony Gancag i 113313 s Cacas
a) 31313113 b) 31311313 ¢) 31311131 d) 13133131
45, Light busp : Filament a5 wheel:,
" Electiiy by Car T
46. Which number shoy|q came next in this seri e  Roxd
8) 13 b) 11 Se”e;: DU2195,
c
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a) Aunt is Py Paterng) uncle | Hours
b)  Mother 9 o _
ousin

1.Some ovens are Mmetals

2. Some cylinders are stoves
3. Some ovens are engines
4. No engine is a cylinder,

a) None follows b) Only 2 and 4 c) Only2and3 d) Only2

Uma ranked 8th from the top and 37th from the bottom in a class .
How many students are there in the class ?

a) 47 b) 46 c) 45 d)a4

TIE BREAKER QUESTION

A simple pendulum completes 5 oscillations in 8 s. The time period of the pendulum is

a) 0.625 s b) 1.6 min c) 40s d) 16s
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